



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$5^{(-1)} - 7 =$$

$$9^{(-1)} + (-2) =$$

$$5^0 - 7 =$$

$$10^2 + 1 =$$

$$2 - (-5) =$$

$$(-10)^{(-1)} + (-4) =$$

$$9^{(-1)} - 10 =$$

$$9^2 - 4 =$$

$$9^{(-2)} - (-10) =$$

$$(-1)^2 - 10 =$$

$$(-4)^{(-1)} - (-4) =$$

$$1^2 - (-5) =$$

$$3 - (-1) =$$

$$2^2 + (-5) =$$

$$7^{(-2)} + (-3) =$$

$$(-5)^0 + (-1) =$$

$$8^{(-1)} + (-8) =$$

$$(-7)^0 - 3 =$$

$$6^{(-1)} - 1 =$$

$$2 - 10 =$$



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$5^{(-1)} - 7 = \left(-\frac{34}{5}\right) = \left(-6\frac{4}{5}\right)$$

$$9^{(-1)} + (-2) = \left(-\frac{17}{9}\right) = \left(-1\frac{8}{9}\right)$$

$$5^0 - 7 = (-6)$$

$$10^2 + 1 = 101$$

$$2 - (-5) = 7$$

$$(-10)^{(-1)} + (-4) = \left(-\frac{41}{10}\right) = \left(-4\frac{1}{10}\right)$$

$$9^{(-1)} - 10 = \left(-\frac{89}{9}\right) = \left(-9\frac{8}{9}\right)$$

$$9^2 - 4 = 77$$

$$9^{(-2)} - (-10) = \frac{811}{81} = 10\frac{1}{81}$$

$$(-1)^2 - 10 = (-9)$$

$$(-4)^{(-1)} - (-4) = \frac{15}{4} = 3\frac{3}{4}$$

$$1^2 - (-5) = 6$$

$$3 - (-1) = 4$$

$$2^2 + (-5) = (-1)$$

$$7^{(-2)} + (-3) = \left(-\frac{146}{49}\right) = \left(-2\frac{48}{49}\right)$$

$$(-5)^0 + (-1) = 0$$

$$8^{(-1)} + (-8) = \left(-\frac{63}{8}\right) = \left(-7\frac{7}{8}\right)$$

$$(-7)^0 - 3 = (-2)$$

$$6^{(-1)} - 1 = \left(-\frac{5}{6}\right)$$

$$2 - 10 = (-8)$$